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—. IEPEEE: AXEH 10/ME, §E2 9, #2045 SNERF-MERTEEE.
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EHEF 4 5, BNEF LB 25, FEENF D
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16. (12 43 )

3d
S R

(2) BD (24}

(3) WA KSCN BL:F'lf, sCN £50H %44 Fe'. pHHE, OH HE 5 Fe'’
gl MRPENGSR, OH MM/, SCNALIESIFS . (14)

@HZHE (149) GD(247)

(4) @2 (14+) ; @ (075, 025, 025) (24¢) @%I{Ef}]

17. (114F) Z

(MR ARBR R BN, (143 ) S10: (14}

(2)Cu?* +HaS=CuS| +2H" 2Fe’" +HaS=2Fe’ +5| +2H (24r)

(3)H20: 4§ Fe? " EAk A Fe¥', Ni(OH: BVWIFE I pH 25 F R AR (24) 47 (14)
(4)2.9x10°2 (243)

(5)%?[%{25}}

18. (124F)
-0
I M
_nDXE}LhSH
(DEREE, BE (24 ) é? (24%)
=) —0 5
:@\j\ + AR _Dm +2H]
@ (24%) g (14%)
(312 (2 4)

(4)



f 5=F=H—Q—F H i [ E T %}""“ :{H Wb . [ L. # :;“
(;f\:jk“ﬁ {LIJI'IrhN. DCM » (mi H!i H-E‘ﬂ‘; l-*l“'-| \{
(34)

19. (124)

(1)ACFBDE &, ACDBFE ( 2 4} )

0% H), {# FeClL 25 MHERE (14)

C)ERE. =FbsE (24)

(DFEEREAERE, WHE (14)

(5)MnOs + 5Fe?’ + 8H" =Mn?" + 5Fe* +4H0 (2 4))
6)3 (24r) AB(24)

(13 43)

(DI (14) —41 (24%)
(zjé (24y) Eﬁ’?”‘l {243)

G
900K & B W/ IILidfi ja] #E 47 (10 FE |r'+-f~g (14)
(3)HEF CO FREED] L4 R RS 45 6, MO 76 N1 bR R mE ity , Wb T N
fEfkRIAY B, WS T AL S, MO 7E Ni bR A, RH B E
SR co, HRITF, HHF co. Al C ek RIFERBRERN ., (2 4)
(4) Fes04+4CO = 3Fe+4CO: Fe:04+4H: = 3Fer4H20 3Fe+4C0; = Fei04+4C0O Ef,
3Fe+4CaC0;3= 4Ca0 + Fes044CO ( 3 4+ )
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